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wrefter faar fomma e ’ . .

¥, GuEe (S fEe 1w guErden aueEeed weiel ITR) STET Iueeers, fam
(TR wret 9g o T e i urgn dw Ragiem o w@ o,

9. % sk Teeden e fo wee o2 @ e rearen Rai T A
AR o W uIR.

%. I USRI ST 9 O Had T TSEdE G TEel UgvIren SR e
FA ™A W A TS Tl Fagd Jvar oA TwE.

el Fe fam/A SO=T IR/ ?

(1) %aa (2) TEAAMNNSE (3) PRSANE (4) A, FA=

Consider the following statements :

a. The post of the Sarpanch (who is elected by the members of Gram Panchayat)

“or Upa Sarpanch, as the case may be, that has fallen vacant (due to

resignation) shall be filled in within thirty days from the date of such vacancy.

b.  The post of the directly elected Sarpanch that has fallen vacant shall be filled
within three months from the date of such vacancy.

¢. A member of a Gram Panchayat whose post has become vacant due to absence

for continuous meetings of the Gram Panchayat shall not be eligible for
re-election.

Which of the statements given above is/are correct ?

(1) Only a (2) Onlyaandc (3) Onlybandec (4) a,bandec

=

#. W fowm afirfider Tewrh wgu de qraven @ il waw dan Ina T4 d.

9. . W fem wfidde sgaitd modmme s Wl w TeE T gERdE
HeeHie atEdia.

%. forem vewmidd e Rdeimien =i e de s wee aften s,
2. 39 wuw o ugfig sreum s

3. TmeEs w o wgfug veaehe awa.

AR wort Fum 9 smda 2 _

(1) % A, d, F M S . (2) Ed §, & I §
(3) e o, §, & oMfr § 4) sl wd .

Consider the following statements about the provisions of the Village Development

Committees of Maharashtra Gram Panchayat Act :

a. The total number of members in a Village Development Committee shall not be
less than seven and not more than seventeen.

b. Not less than one-third of its members shall be from amongst the members of
the Gram Panchayat.

c. . Not less than one-half of the members shall be women.

d. The Deputy Sarpanch shall be its ex-officio chairman.

e. Gram Sevak shall be its ex-officio member-secretary.

Which of the statements given above are correct ? '

(1) Onlya,b,candd (2) Onlyb,cande

(3) Onlya,b,cande (4) All of the above
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(1) TI9RA 7% & A

(2) Rgs WS Qe © A

(3) IN-UST qiyg @ FEt

(4) SR e T

The ‘Sarkaria Commission’ favoured

(1) abolition of the office of the Governor

(2) abolition of All India Services

(3) abolition of Inter-State Council

(4) None of the above

4. OO HEfYasaEEH) Eede! S faue e e o ?
(1) awmwmmmﬁamwwm
(2 == uEeR T fafudeerr Fifte 3 9n.
(3) ammﬁ@mmmﬁqmmaﬁawwr@m
(4) b Tl T
Which one of the following statements is correct about the Advocate General of the
State ? |
(1) He shall hold office during the pleasure of the State Council of Ministers.
(2) His remuneration is determined by the State Legislature.
(3) He may appear as an advocate in cases against the State Government for a
private party.
(4) None of the above

5. T (37) : EEdE ugdued yaeTEe srensar faan sresfiy ugdivar e e,
FRU (§): TMEATR FRHSSTS fHoaw 2} Sieaars maars Agar Al .
(1) ‘& oaft ¥ I R oo W R ‘I I W AR
(2) ‘o it ‘¥ i wUR, W T ‘o 2 Iy wEeR 373,
(3) ‘o B SR IR, W T ¥ THE IR -
(4) ‘o 3 TR IR, W ‘T ? T AR,

Assertion (A): Legislative control over administration in a Parliamentary system is
different from that of Presidential system.

Reason (B):  An important feature of democratic government is the legislative
control over administration.

(1) Both ‘A’ and ‘B’ are true and ‘B’ is the correct explanation of ‘A’,

(2) Both ‘A’ and ‘B’ are true, but ‘B’ is not the correct explanation of ‘A’.
(3) ‘A’is true, but ‘B’ is false.

(4) “A’is false, but ‘B’ is true.
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‘a1ef frdiereer’ wredta @rehieiehl FvR fHgmA wle smd/eTed ?
a3 e fn wreh T wig W,
q. o gouuree Rereht e wieat 3a .
% TER fatas od e ok fear 9t s wes eflm weam TsgaeEn P orfi
Tl
T mﬁmﬁw%ﬂmﬁamﬁmmmmm
e WY Yo AL THAR.
qutdt IW :
(1) a4 3 anfor - 2 wwma
(3) Waq A, T AP S (4) S A, HAMIE
Which of the followihg statements related to ‘Money Bill’ is/are correct ?
a. It can be introduced either by a minister or by a private member.
It cannot be introduced except on the recommendation of the Governor.

c. If any question arises whether the bill is a money bill or not, the decision of the
Governor is final.

d. In case of a deadlock over a money bill, the Governor can summon a joint
sitting of Legislative Assembly and Legislative Council.

Answer Options :
(1) Onlyaandb (2) Onlyb
(3) Onlya,bandc (4) Onlya,candd

7.

mmmmmmmwmmmm
qea I 3 TR FAT .

(1) <rwaa frem g v e agua
(2) e R T Tee wetem dR-gdtaia dan S A e T
(3) TswEE forem Tw goE v IgHaH

(@) ToEEdY SR TR HeeH T g Tee Sedne S T e S

The Parliament of India acquires the power to legislate on any subject in the State
List in national interest if a resolution to that effect is passed by the

(1) Lok Sabha by a majerity of its total membership.
(2) Lok Sabha by a magonty of not less than two-thirds of its total membership.
(3) Rajya Sabha by a majority of its total membershlp

(4) Rajya Sabha by a majority of not less than two-thirds of its members present
and voting.
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8. YERIET=T gauid @ielid faus foemo e .

. mmmwmmwmmmmmmw
ITFHET ARG Uk Ulg-aan e a9 M.

. ﬁmtmma@wwﬁmmﬁmﬁmméﬁwmm
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F. T SoH TAERIR-FAGM T e Uity ael IueagT i wifE.

g gy nfor Suregy Frem FACHd T YA sremengd Ry wfietr wwd

ufa.
R SR feum ste e 2
(1) &5 3, § 3007 * (2) wId 9, & g
(3) wEd § W10 & (4) oha wd

Consider the following statements with reference to Maharashtra :

a. Zilla Parishad may meet as often as may be neceséary, but one month shall not
intervene its last meeting and the date of its next meeting.

b. The President of Zilla Parishad shall call a special meeting on the written
request of not less than one-fifth members.

c. Every meeting shall be presided over by the President, or if he is absent, the
Vice Prasident shall preside over it.

d. In the absence of President and Vice President, the meeting shall be presided
over by the Chairman of subject committee.

Which of the above statements are correct ?
(1) Onlya,bandc (2) Onlyb,candd
(3) Onlybsandc (4y  All of the above

9.  WIEIMTOEY, UATeA I G gEd A et weeEe .
(1) 3 TS =i '
(2) T B g SO =t
(3) TR U Fa% At =T
(4) TEadl SUFA s 3 FrrefEn
. Generally, the High Court of a State consists of a Chief Justice and
(1) nine other Judges
(2) such other Judges as may be determined by the Governor
(3) such other Judges as may be determined by the Parliament
(4) such other Judges as may be determined by the President
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10.  TaweAT Rl samserd @ %@ IR qrevemadt geraidty iy aften wow e S
q FEugdRT fam el stera e ercfiadd wofl wm %9 ?
(1) & fam. e (2) A FUEEH F2R
(3) & TN TR | (@ & . ogh

The Constituent Assembly appointed a number of committees to deal with different
tasks and works of Constitution-making. Who was the Chairman of the Rules of
Procedure Committee ?

(1) Dr. B.R. Ambedkar (2) Alladi Krishnaswami Ayyar
(3) Dr.Rajendra Prasad =~ (4) Dr. KM. Munshi
11. 9 S o .
3t o T

A, B TR I fvarEe s
¥, T BR e I Rl gie g
F. R SEifesn F II. gAfamEass ezt
3. Tl uiet FvE w4 : IV. M9 SehIEd
qyiE IW

3t T w -
(1) III v II 1
(2 11 II1 v I
@) m I I v
(4) 1III II v I
Match the pairs : :

A B

a. Balshastri Jambhekar - I.  Establishment of Widow Home
b. Gopal Hari Deshmukh II. First supporter of female education
c. Mahatma Jyotiba Phule I1I. Congregatid'n for remarriage
d. Maharshi Dhondo Keshav Karve IV, Orphanage
Answer Options :

a b c d
M m IV I I
(2) II 111 v I
(3) I 11 I v
(4) 1M1 . 1II v I
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12, 1932 dreh urdia Iuwr ufeft famm ot ge Feft

a3 A erew

9. IR eEEd fa.

%, i ey

g e grawia weew fa.

it I

(1) %o F 0T« (2) wFd & A&

B) wRA (4) wFa A

The first Aviation Company that was started in 1932 by an Indian Industrialist was :

a. Indian National Airways

b. Tata Airways Litd.

c. Imperial Airways

d. Indian Trans-Continental Airways Ltd.

Answer Options :

(1) Onlyaandb (2) Onlycandd

(3) Onlyb (4) Onlya
18, “Tureh il adt sErET= e R yuW I9G uHiar YER wen wies. el edarrd g e

drda @t 7w fesom A" o) 9= e B

. Bf. WigR M.

g, =g T

F. G dat

s, = AW g aEeE

Tafdt 3w

(1) e A A g (2) ET A AW

B) wFS A 4) wF A

“For realistic progress of the nation, progressive religion should be spread out. As
long as religious awareness is happening, till then realistic success is not achieved.”
This opinion was of ‘

a. Dr. Bhandarkar G.G.

b.  Justice Ranade

¢.  Justice Telang ‘

d. Dr. Atmaram Pandurang Turkhadkar

Answer Options :

(1) Onlyaandd (2) Onlyaandb

(3) Onlyd (4) Onlya
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14. TOEW YU TG I FHOTCET JAARE ST SRAEAT T B! ?
(1) TEER g (2) WA

(3) Yy (4) IS

Narayan Meghaji Lokhande presented the questions of workers in which of the

following newspapers ? :

(1) Samachar Chandrika (2) Prabhakar

(3) Deenbandhu ‘ : (4) Dnyanprakash
15. G Js &0 '

A, udar we I Sy goer uy

€. e e 1. frosfa Samerst e

®. quEs e Il  9IGT e <t ST

T e R v. ‘fig 3T | Fo < T

oIt I

<) = & T

(1) II II v I

2 I v I1I II

(3) III v I II

4) Iv II III 1

Match the following :

a. Pandita Ramabai I. ~ ‘Stree-Purush Tulana’ Book

b. Ramabai Ranade II. Establishment of Nirashrit Seva Sadan

c¢. Tarabai Shinde III. 'Establishment of Sharada Sadan .

d. Janakka Shinde IV. Establishment of ‘Hindu Ladies Social Club’

Answer Options :

a b c d

(1) I - III v I

2 I v III IT

(3 mI v I II

4) 1V II III I
16. SH 1849 ﬁmmmmmﬁmmmﬁm?

w, ol foe

% a%ﬁ ave 3. e W

FOTR o e/ frem s mR/eRa 2

(1) wwa A AM0Td : (2) W (T *

- (3) wHH (4) %E A, H AT

Paramhans Sabha was established at Mumbai in 1849 and gave the emphas1s on the
following reforms :

a. . Widow Remarriage , b. Women’s Education’

c. Break the Caste Barrier d. Acceptance of Idol Worship
Which of the statements given above is/are correct ?

(1) Onlyaandb (2) Onlybandc

(3) Onlye . ' (4) Onlya,candd
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17. HRT HER ST 33 9 HER Gcds Javdl A | o
A A A s I o e ¢ gfamm Fies ufee oreme
q,  wgreA II. o5 A gREA I7 FITR queas T
%. st arfEn I 3NEHRETE TEeRe Tat STt TqToT
3. I ANIaE Iv. &9y JAUEH ST 59 Figd
qﬁaﬁ:

H q w T

1 Iv 111 I I
(2) I A% I 11
(3) II I v 111
4 IV I I 111

Match the following regarding and emergence of Indian workers and Labour
movement :

a.

Narayan Meghaji
Lokhande

Mahatma Gandhi
B.P. Wadia

Lala Lajpat Rai

Answer Options :

(L
(2)
(3)
(4)

a b c
v III II
I11 v I
11 I v
v I II

II
I11
I11

First President of All India Trade Union
Congress

Establishment of Madras Labour Union

Fstablishment of Ahmedabad Textile
Labour Association

Placed the problems of labour through
Deenbandhu newspaper
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18. SHEJAENE WA AeaEt Fee ThonT gadie wedfier fewfaam Sl qiesd 2

| #. Rgeamh aeh gafor w1s awed.

9. e fenoge wdie Fata 99g Wi dw gl s o,

F. A il Myw ? weviare .

3. aﬁmmmmwrﬂaﬂa@é&mm

whﬂ'ﬁﬁ

H k) & T
(1) Ww=Eg e g TR WA e A Rdard) T g
(2) =l TR WA ofafed VWA AeReed e R e
(3) TAHigaard) Maes W 9% &4 Il T W ATl

& T
@) =gl TR RIEATGEIE] WA Hlegiesd Ww 9 9
TaTes BN T :
Who made the followmg thoughts/statements regarding the effects of colonialism on
Indians ?

a. Indian economy ran overseas.

b. Due to economic abstraction, world known enriched India became poverty
stricken.

¢. An exploitation of Indian economy is like Ransom.

d. By taking sword in hand it is time to manage our business.

Answer Options:
a b c d
(1) Ramesh Chandra Justice Sir George . Lokhitwadi Gopal
Dutt Ranade Oxenden Hari Deshmukh
(2) Jdustice Ranade Sir George - Ramesh Lokhitwadi Gopal
: Oxenden Chandra Dutt  Hari Deshmukh
(3) Lokhitwadi Gopal Ramesh Justice Ranade Sir George Oxenden
Hari Deshmukh Chandra Dutt
(4) Justice Ranade Lokhitwadi Sir George Ramesh Chandra
Gopal Hari Oxenden Dutt
Deshmukh _

19, TR At e, ¢ 3 fRam 27, g 99 R 9YRa@ [aes o, W
T YA S T e T oW, e F e a e .
(1) TR e (2) A 9eH
(8) U™ HyUt JeurEd (4) wurey Iyfemy

According to Dadabhai Naoroji, ‘What was being drained out was
, that could generate more economic development if invested in India.’ Fill
in the blanks with the given right option.
(1) Handicraft production (2) Indian currency
(3) Entire cotton production (4) Potential surplus
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A, FE, e 9. 34, ®YH

®. dn, Hz 3. qerg, A%

FhAYR HYo feam/fau™ stet snEd ?

(1) %o A M & (2) Had A, & M E

(3) e &, % M S (4) 0w 99 SO R4

Which of the following crops production increased due to commercialization of
agriculture during British Period ?

a. Tea, Wheat b.  Sugarcane, Cotton
c. Jute, Indigo d. Tobacco, Opium
Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlya,candd

(3) Onlyb,candd {4) All of the above

21, visar wEET fifew were Hvran feae feen gen ?

(1) Fmufg (2) Hmufig

(3) FWud (4) e gm o

Which award was given to Pandita Ramabai by the British Government ?
(1) Kaisar-e-Hind (2) Kaisar-e-Hindu

(3) Kaisar-e-Lady  (4) “Indian Super Lady

22.  InCIETH ATHATAT Hd =T YR JEE HI0T gaT ?

. HET A v feaf F. TR @ 3. g e
TR R fea/faum stet se/eme ?

(1) waa Al g (2) &F F AU T

(3) HHH (4) w3

Who was the first leader of the revolution of native for farmers ?

a. Baba Bhand b. Bijania ¢c. KajaraSingh d. Tantya Bhilia
Which of the statements given above is/are correct ?

(1) Onlyaandb (2) Onlycandd

(3) Onlyb ' (4) Onlyd

23. AR ISETH! GEATd W] HIVT JOHI el ?

(1) vare e f&y (2) WERIg iy FAleh

(3) rg wew anfor s (4) wma i fagn

The Civil Rebellion began from which of the following regions ?

(1) Punjab and Sindh (2) Maharashtra and Karnataka
(3.) Andhra Pradesh and Orissa (4) Bengal and Bihar
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24, e eonee wf gafmd! wivl $rf ), 9 e

A, UG W ABLE TR AAGATEET I AL

9. e HtEAye o R R smwartue s mieeh.

&, foausn eftareamendt T’ € aean T S

T ‘Are Qv @ swersfer fafe.

. it I
.} | * 3
(1) i ward iz Ig= AT FA g T
(2) T U9 AEgeE #4 ufsm wed niie Igres
(3) Trmen Prass T T AR Fd Mfie sgre
4) Wi sge - ifgm T LEICIERES) FFdar wd

Identify the following people who have done work for emancipation of women :
a. The problem of child marriage was placed in the famous Drama : ‘Sharda’,
b. Before the Hunter Commission, the condition of women’s education was placed
in numerical data.
c. ‘Shardashram’ was established for widows..
d. ‘Maze Puran’ an autobiography was written.
Answer Options : . ,
a b c d
1) Pand1ta Ramabai Govind Ballal Anandibai Karve Ramabai Ranade
(2) 'Ramabai Ranade Anandibai Karve Pandita Ramabai Govind Ballal
(3) Vidhyaben Ramabai Ranade Anandibai Karve Govind Ballal
Nilkanth ‘ ]
(4) Govind Ballal Pandita Ramabai Ramabai Ranade Anandibai Karve

25. 1857 < Toraredh iehetet o Fer et o 2
@, R veeta Rmrsht A (vem) g o St R W e s gt
Fa. '
T T WS STt weft arentend at ssarern widen .
®. iR ATdeA A ReraRe Jew At 9.
T TN Al e s danmyda @ Seaad= s Rrere arid s e,

Wﬂ: )
(1) FEg AW & (2) %I F, & 0T g
(3) wad A, & g 4) SFFHAMS

Which of the following statements are true regarding the Revolt of 1857 ? :

a. With treacherous attitude Pant Sachiv of Bhor Chimnaji Raghunath (first)
tendered Rango Bapuji Gupte to Britishers.

b. Rani Bakabai of Nagpur Bhosale Dynasty supported the revolters.

c. Chimasaheb of Kolhapur Chhatrapati Dynasty participated in revolt.

d. Son of Rango Bapuji Gupte Sitarampant and Ramji Shirsal of Sawantwadi also

participated in the Revolt.
Answer Options :
(1) Onlyaandc (2) Onlyb,candd
(3) Onlya,candd (4) Onlycandd.
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26, YRAT Tala @iF U qgmnt AR
(1) NH44 (2) NHO1 (3) NHA48 (4) | NH 06
The longest National Highway in India is
(1) NH44 (2) NHO1 | (3) NH 48 (4) NHO6

97, st R sl ofeFrn & A e A

A, RS I e
q,  FlewErq II. g
F. AN L. f&asg
T RTER Iv. gl
it I ,
H T * 3
(1 IV II Il I
2 Im I n - 1w
@ m 1 v - II
(4 m 1w I II

Match the Industrial Regions and Industrial Areas :

a. Nashik I.  Butibori
b. Kolhapur II. Shendra
¢. Nagpur III. Vinchur
d. Aurangabad IV. Hupari
Answer Options :

a b c d
1) Iv x II I
@ ur - 1 I v
(3) 1 I v II
4y 1 IV I II
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9. AURIC ? 9f&ra &9 31R.
F.  FHCAHI THOT AEUE 1,000 HIE T
8 fircht-ged ofnifie wgamn (FiEiET) ww .
g iy faen
gt IW :
(1) % A (2) wF A AT
(3) ad A, 9 W % (4) WFa o, § AMr g
The salient features of Aurangabad Industrial City :
a, Well-planned and greenfield smart city.
b.  The abbreviation is AURIC. -
¢.  The total investment will be T 1,000 crs. |
d. Itis a part of Delhi-Mumbai industrial corridor.
Choose the correct option : .
Answer Options :
(1) Onlya . (2) Onlyaandb
3) Onlya,bandc ‘ (4) Onlya,bandd
29. 1931%2011mmaﬁammmmmmﬁawmm
TN e g ?
(1) 39 depae JE Framad], ald gedt &
(2) g SHEET A FremEl
(3) IREEA ARIA qA
(4) for S FemEdt
India’s population growth and temporal changes during 1981 to 2011 indicates the
population transition stage of ‘
(1) Period of High growth with declining trend
(2) Period of Rapid growth
(3) Period of Steady growth
(4) Period of Stagnant growth
80. RS genp W wiferh, 2017wmmmmmmm@w

HHTET TS IR ?

(1) WewISg | (2) TSEAH

(3) WeA W C(4) I

Which State of India accounted for the second rank in National Highway leng'th as
per report of Basic Road Statistics of India, 2017 ?

(1) Maharashtra ‘ (2) Rajasthan

(3) Madhya Pradesh (4) Uttar Pradesh
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31, EIAIAYH HUET T WRATHS I Y e fawm gEifaa ?
(1) Feueredra fapm
(2) VR A SamEaer fEaer faum
(3) ey fom
(4) TR A

Which one of the following regions indicates the example of high intensity zone of
earthquake in India ?

(1) The Zone of Peninsula

(2) Himalayan Belt from Kashmir to Assam

(3) Central Zone

(4) Ganga Plain

32. 2011 <N SFRNTHY NS ATHRONETET SV R ae yahied e/ ?
H. T AEeE TR 45-23 IR,
9. HERSE AT A e eI ar.
F. TR AU SEhEEET 5,08,27,500 Fah AR, |
3. "R Ag@R fesar arien gae watd wH R,
gatdi I ;
(1) %ad A7 AT &
(2) B H
(3) I A +H
(4) B E

As per 2011 Census, which sentences is/are false for urbanization in Maharashtra ?
a. The percentage of urban population is 45:23.

b. Maharashtra stands third in urban population.

c¢.  Urban population of Maharashtra is 5,08,27,500.

d. The lowest urbanization level is in the Nandurbar district of Maharashtra.
Answer Options:

(1) Onlyaandb

(2) Onlyec

(3) Onlyaande

(4) Onlyd

FOUET HIETETS! ST / SPACE FOR ROUGH WORK
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33. wWERTCHE FEREE A9 9 @i e I g e @ ;

fresr FAGTT FIaT
HA.  EEAW I g0
4. e . feegh
E II. Ut
. IGaHIS IV. ds=en
R I

¥FqT 0w T
(1 I III vV I
@ m I I I\
@ I IV I II
@ IV I III I

“Match the correct pairs of Irrigation Schemes and Districts in Maharashtra :

District - Irrigation Scheme
‘a. Satara I.  Mukane
b. Nashik II. Vishnupuri
¢. Nanded - IIL Kanher
d. Yavatmal IV. Bembala
Answer Options :

a b c
1) I III v I
(2) III I II v
(3) 1III v I - II
4 IV II III I

34. aEa YflE ag nf @l a9 sEeE TS e : :
(1) *= | . (2) fewrea s
(3) C(4) mEm

The State which produces natural gas and mineral oil in India is
(1) Kerala | (2 Himachal Pradesh
(3) Goa o : (4) Assam

ZFFTeq] HHTET! AT / SPACE FOR ROUGH WORK P.T.O.
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35, WRACH @ w3 MerE Tea SuaTE AiETER TEdr W gt ?
(1) wmuifegar, waw, quf, g
(2) wisw, Tul, o, gt
(3) wmitEan, aut, vaw, A
(4) @S, Yaq, g, Srfzar

Which of the following options shows the correct ascending order by length of the
tributaries of Godavari river ?

(1) Pranhi‘ta, Pravara, Wardha, Manjra
(2) Manjra, Wardha, Pravara, Pranhita
(3) Pranhita, Wardha, Pravara, Manjra
(4) Manjra, Pravara, Wardha, Pranhita

36. g P snuif, mergr=n g arffeomen ggie onfor wesfiT o waged §9 1938

wEY Hof} T ? |
(1) e €. foy | (2) . W afor gF. o
(3) . sfagass (4) ETaﬁaTIﬁTETﬁFF{

On the basis of soil formation, the first detailed and scientific soil classification of
Maharashtra was done in 1938 by :

(1) Dr.D. Smith (2) Dr. Kellogg and Dr. Thorp
(3) Dr. Dokuchaev (4) Dr. Basu and Dr. Shirur

37. wERgTEE e SRR fyrrdia e Siwer ol qafase g wsa S ?
(1) Ems, ey i wefl @e
(2) Tl SrERle onft hesell @rEl
(3) HIA, FHEAES A @S @l
(4) gy, gut A1 ik @re
Which creeks are included in the ‘Central Konkan’ of Maharashtra’s Konkan
Regional Division ?
(1) Deogarh, Achara and Karli creeks
(2) Rajapuri, Bankot and Kelshi creeks
(3) Dharamtar, Kalawal and Terekhol creeks

(4) Dahanu, Vasai and Datiware creeks

THoTgl FTHTATS! SR / SPACE FOR ROUGH WORK
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38. g iy fafepla w2 forweh seht amea
(1) ofe AW 41 4= | (2) 9% W 4 gB
(3) <& W ¥ 4B (4) I W 99 S
The Laccadive islands and Minicoy islands are separated by
1 Eight Degree Channel (2) Nine Degree Channel
(3) Ten Degree Channel (4) Zero Degree Channel
39. Sid. Wmmm trﬁ%m%mq@aﬂaﬁzﬁﬁmmﬁguw
Tretaeh! HOET FHTE FTHH 1 ?
1) vEdE A FEHE
(2) I wfesfa yeh FaEE
(3) I Hicaea TaEE (A=) gAH
(@) irom FReaha o T
As per G.T. Trewartha’s climate classification, Western Coastal Plain and Tripura
State exhibit which of the following types of climate ?
(1) Humid Mountain ‘Climate
(2) Tropical Arid Climate
(3) Tropical Monsoon Climate
(4) Humid Sub-tropical Climate
40.  TENgE YRex Hra SraaEs v greE b Ereftetst fid e 2

1) 58% ' (2) 65%
(3) 85% (4) 95%

WhicH of the following pércentage indicates the proportion of rain received in
Maharashtra from North-Western monsoon ?

(1) 58% . (2) 656%
(3) 85% (4) 95%

FoegT HHEISE AR / SPACE FOR ROUGH WORK P.T.O.
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20 A

1995 Wed dF ST foage @ il g Ruem st e HAT
st ‘

(1) eyt fFem
(2) e da1 afieh
(3) fom SArpurad T
(4) raurs @ v

was introduced in 1995 for inexpensive and speedy settlement of
bank customer disputes. '

(1) Prudential Norms

(2) Customer Service Committee
(8) Banking Ombudsman Scheme

(4) International Accounting Practices

42.

gl faum e .

A, WOAEE, NI QR AR 1948 Ued T Ieaw afirdi=h fgerft s,

5. I giirfre W §.f). Aeeriey, . LR, mefis nfit WL @, . ug I
TOE Bl

%, UK 3O i afgen TeaTe 1951 wed Infur atfim seaTer 1954 HEY ST,

T feeiear faurndh Foe foum/ad faam gt sm/ema 2

T I
(1) wad (2) wad Famfr g
(3) W A A H (4) wF g AWM

Consider the following statements :

a. After Independence, the Government of India appointed the National Iﬁcome
Committee in August, 1948.

b. The committee consisted of Prof. P.C. Mahalanobis, Prof. D.R. Gadgil and
Prof. V.K.R.V. Rao.

c. The first report of the National Income Committee appeared in 1951 and the
final report in 1954,

Which of the statements given above is/are incorrect ?
Answer Options :

(1) Onlya (2) Onlyaandb
(3) Onlyaande (4) Onlybandc

FHEYT HHETATS! STATT / SPACE FOR ROUGH WORK
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Trfior T Wt AT e SUHHET SICHTE Ul HegEaT eI #®

(1) fod &=

(2) Ve & o sfem

@ T

@) 0w

is the apex organisation to provide credit for the promotion of
agriculture and allied activities in rural areas.

(1) Reserve Bank

(2) State Bank of India
(3) NABARD

(4) All of the above

44.

e ardtied 2021 — 22 Hd g WIS IS Fald ST HA HIOE1 IR 2

(1) g 3o qa &

(2) < 9o 3 TR TR

(3) W=t |

(4) WHMARE W

What is the biggest source of income for the Central Government in the Union
Budget 2021 — 22 ?

(1) GST

(2) Borrowing and other liabilities

(3) Income.Tax

(4) Corporate Tax

45.

2011 =31 SFTVHFHR AR wishaedrs o M.

(1) 117 sfy =, Resh, @ TSR e,

(3) 282wf = frh. (4) 382 wfa =, .
According to the 2011 Cénsus, the density of population in the country is
(1) 117 per sq. km. (2) 157 per sq. km.

(3) 282 per sq. km. (4) 382 per sq. km.

T PTHTATS! AR / SPACE FOR ROUGH WORK o P.T.O.
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46, NAET AFEErE TR Afired 7 wedwnEgvia S e st gt ?
(1) ZEE IFATE 916 @ WS A= THRIHS §a9 .
(2) YRR 9 TSRATE dreard Heasy Td.
(3) weliwumEEa Sierea wWeiETE g9l 91 8.
(4) VEtE 9 SRGRYETET AREEl TeaTd THIHS TaY 8.
Which of the following statements is nof correct regarding qualitative
characteristics of India’s population and urbanisation ? ‘
(1) There is positive co-relation between per capital income and urbanisation.
(2) There is no co-relation between urbanisation and employment.
(3) Thereis increase in standard of living with urbanisation.

(4) There is negative relationship between urbanisation and population below
poverty line.

47. R sl dF TR GTeliaish! SSRYSET HIVAT R 8 JEENES 9 A% H@gd U

3R ? .
(1) g3 %S (2) TieETder ST
(3) foa ¥ : (4) 3T AT

Which of the following market segments is growth and profit oriented in the Indian
Commercial Banking System ?
(1) Mutual Funds (2) Mobile Banking

- (3) Retail Banking (4) Internet Banking

48. WA Ridfier IATEHAT THEAH 3 el AT AR, T FEUS

A, qibh wF q. A S

®.  TEAHE TH 3. feA gl

it I

(1) & A 3T F ' (2) e 3 30T §

(3) wad 37 oMfUT & (4) %I & AN T
Productivity in Indian agriculture is mainly dependent on two sets of factors. Those
are :

a. Technological Factors b. Human Resource

c¢.  Institutional Factors d. Irrigai;ion Facilities
Answer Options:

(1) Onlyaandc (2) Onlyaandd

(3) Onlyaandb {4) Onlycandd

FEET HHTATS! ST / SPACE FOR ROUGH WORK
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mﬁ?ﬁamaﬁmwm, 2003 <t st sfep/sfesew
/ ?

. m =% M ey foeig gz it +wl.

&. T e R g eamme e SeTeeR gt

T, SEATAT AT HIHNIG TRERIHT GUro.

it I

(1) e el T (2) aledd v

(3) e 1 iU (4) & & N0 §

Which of the following is/are the objectives of Fiscal Responsibility and Budget
Management Act, 2003 ?

a, [To set limits on government borrowings under a time-bound programme-

b. To achieve zero revenue deficit and bring down fiscal deficits.

c. To make the government responsible for ensuring long term macroeconomlc
stability. '

d. Improving transparency in the fiscal operatlons of the government.
Answer Options: .

(1) None of the above (2) All of the above

(3) Onlyaandb (4) Onlycandd

bO.

e fady o & @il S H%c_ulﬁ 3B gt ?

(1) ey snfde fran wamrh fff

(2) Faiden S

(3) Wrefr=n foprw

(4)  Temm fffeht

Which of the following is not an important objective of Special Economic Zones in
India ?

(1) Generation of additional economic activity
(2) Promotion of export

(3) Development of agriculture

(4) Creation of employment

51.

waﬁwwmmwﬁmm 1000ﬁia?rs|=nmﬁ

I G Ao Goet S 38

(1) uHad @ 3) - W eEw  (4) U feaw

The infant mortality rate is the number of deaths of children under of
age in a given geographical darea during a given year, per 1000 live births.

(1) One year (2) One month (3) One week (4) Oneday

52‘

qeu i TedrTR FnH! gewve (e waeor 2020-21) I wOAHNE G
WEY T 7Y Yehd ?

1) U=STeR= - (2) S-T&Re (3) V- (4) Z-3Er=
According to Chief Economic Advisor Krishnamurthy Subramaniam (Economic
Survey 2020-21), what may be the shape of Economic recovery ?

(1) U-shape (2) S-shape (3) V-shape (4) Z-shape

FEEqT BIETATS! ST / SPACE FOR ROUGH WORK - P.T.O.
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53.  Wiarsd g dded, 2020 TUR HEH A AR TS Rt Tawla o ?

(1) 5% 25% (2) 5%d 35% (8) 5% 30% (4) 5% 20%
What is the range of tax rates for taxable income as per the Union Budget, 2020 of
India ?

(1) 5% to 25% (2) 5% to 35% (3) 5% to 30% (4) 5% to 20%

54. @T(‘«ﬁaﬁfraﬁumﬁmﬁaﬁmw?
A, Wmaﬂgﬁﬁéw‘gﬁeﬁmmaﬁammﬁwm%
9. 9rae Iamen faesn @ Sma gat aRa o,
®., WA S faeomET @ waE SHaEeRE TR,

ﬂ'ﬂ'i'éﬁ‘ﬁ:
(1) a1 wfor & (2) wad & A &
(3) wag HA IO &F C (4) 90T womE T

Which of the following statements are correct ?

a. The price of electricity for Indian households is lowest in the world.
b. The price of electricity for Indian industries is highest in the world.
¢.  Cost recovery in distribution of power is satisfactory in India. -
Answer Options :

(1) Onlyaandb (2) Onlybandc

(3) Onlyasandc (4) None of the above

55. wrelid faam foama =,
. am@amawma@mﬁﬁmmmmmm
. e sd awgea fFalm snfen sendfen fafma et R e foemdi=an
TUECEAT TEHTd .
F. AT NI ATERITTAT 4] gl e TG Hed A
T fesean ferary/faamith Hm foram/faum st omd/ema 2

g I . _
(1) afiegd (2) wad A
(3) ®H® (4) SEa WO

Consider the following statements :

a. International trade is based on differences in prices of goods and services from
country to country. :

b. The terms of trade refer to the exchange ratio of export and import goods or
their price ratio.

¢. The Balance of Payments record in International Trade is maintained in a
standard double entry book-keeping method.

Which of the statements given above isfare correct ?

Answer Options ;
(1) All of the above (2) Onlya
(3) Onlyc (4) Onlyaandb

Tl HHTAIST ST / SPACE FOR ROUGH WORK
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0-025 T SBIce Hell SFEAT eI Teurs :
(1) e =gia (2) uftenist =g
(3) EH =2gH : (4) WE =W
A neutron having energy of 0025 eV is a/an

(1) Thermal neutron (2) Epithermal neutron
(3) Fast neutron (4) Slow neutron

517.

(1) e IR “
(2) Trd TEq G 39 TET MR
(8) oI FA F 3 TN AR
(4) I

Transfer of heat from a body at low temperature to a body at higher temperature is

(1) impossible

(2) possible by keeping both the bodies in contact
(8) possible by doing some external work

(4) None of the above

58.

I el saviie aRarr weN

(1) gavgwa= AR dismn

(2) et s =aw qaten

(8) -l HavienRE S T4

(4) =ereh

The minimum audible frequency of sound means
(1) threshold intensity of audibility

(2) lower pitch limit of audibility

(3) upper pitch limit of audibility

(4) None of the above

59.

fem_ am |

(1) i woiew (2) wEEGS THiCH

(3) ot wHiew (4) T THiH
Diamond is a . .

(1) Metallic Crystal (2) Covalent Crystal
(3) Ionic Crystal (4) Molecular Crystal

Foeq] SIS ST / SPACE FOR ROUGH WORK P.TO.
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60. f:rsrmg% ﬁmﬁ%mmwﬁmmmm@
A FAOATH HThRE HLdm.
(1) wae feaen | (2) wore e
(3) TR TSR] (4) et SegiufE=mn
The high strength-to-weight ratio of alloy mainly recommends their use
in aircraft and automobile industries.
(1) light steel {2) light titanium
(3) light copper {4) light aluminium
61. WA IEEONG FEGEREA 1 TR sraERe Tmed afufFa €99 YER R wal.
N AR 2 37 3G ST
(1) e = for srfeegie
(2) wud Afesarss anfn Rl
(3) W afceese, M, wifFgaifae Tmge
(4) e, wAfcegee, fren,. wifrgaifae e
In lower atmosphere, smog is formed by the reaction between hydrocarbon and
nitrogen oxide. This interaction produces ‘ as secondary pollutants.
(1) only ozone and aldehydes
(2) only aldehydes and ketones
(3) only aldehydes, ketones, peroxyacyl nitrate
(4) ozone, aldehydes, ketones, peroxyacyl nitrate
62. oS B WIAFHA WO Iy HRO

¥, |d wearHed Y 9 g )
*. SCHUEREN 9T BIATTSE! FEl.
g, 3T g Heeten wvf.

aﬁaﬁﬁﬁwﬁﬁmﬁuﬁaﬁma@aﬁa?
(1) W & (2) wad 3 M H
(3) wad 3, T M &% (4) wFH AT

Amoeba is a protozoan animal because
_ 1t is a cellular animal without tissues and organs.

a
b. it is the simplest and most primitive of all animals.

e

pseudopodia is present for locomotion.

d. it is a pore-bearing animal.
Which of the statement/s given above is/are correct ?

(1) Onlya (2) Onlyaande

" (3) Onlya,bandc (4) Onlycandd

FTegT HETIATST S / SPACE FOR ROUGH WORK
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Wreliehl HIvr Sdl/sie=n a=awoar T@ 1 Iafys 19 I gewla s TR/emd 2

63.
A, onhmrh i — R foren weeT
¥, wRiiaw —  v9y e
% WWEAS  — R ghwa
5. uHAERw — &g Rl
‘Tt IW ; -
(D) e T A ® (2) WIS M S
(3) wE A AN H (@) Fharh wd
Choose the correct pair/pairs of the animal/animals and their scientific
name/names ? _
a. Asiatic lion — Panthera lec persica
b. Royal Bengal Tiger - — Panthera tigris
c¢. Indian Rhinoceros — Rhinoceros unicornis
d. Thamin Deer — Cervus eldi
Answer Options : ,
(1) Onlybande - (2) Onlycandd
(3) Onlyaandc {4) Al of the above
64. WETIH Hrer goft Tger/ageE aaa: siHie e sTae S ?

3. wTyeem yoft q. S gf

F.  G&H Wt T vaft (3T wf)
aaff 3w '

(1) wadsAMs (2) w9 anfhrg

3) wFA (4) BF 9

Which of the following animal group/groups was/were the first vertebrate to become
adapted to life on land ?

a. Reptilians b. Amphibians

c. Mammals d. Aves
Answer Options :

(1) Onlycandd ' (2) Onlybandd
(3) Onlya o (4) Onlyb

FEEY] FETAR! I | SPACE FOR ROUGH WORK o ' P.T.O. |
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65. aoad Yafis i vgdt il wmyg e ?
1) Torofimres (2) W F T
(3) w fFmE (4) Sh.om. fam
Who discovered the natural classification system of plants ?
(1} Theophrastus (2) Bentham and Hooker
(3) Carl Linnaeus (4) GM.Smith
66. WEIEIh! HIAT FRHIT Tograied TET IS HRUMT 38 ?
(1)  gfretaar ariof hammr (2) suimiarE fgrr
(3) R Wyl (4) AT FeReiFIcT
Which of the following is the causal organism of Wheat Rust disease ?
(1} Puccinia graminis tritici : (2) Xanthomonas citri
(3) Puccinia purpurea (4) Plasmopora viticola
67. W=l wkfier Yo @iefiadshl Hiorn gehmed ITeRd ?
(1) wEd (2) fafe (3) waE (4) e
In Agriculture, groundwater is tapped by .
(1) canals (2) sinkingwells (3) ponds (4) tanks
68. WA FIUR HIARUA & TS BN UL HS@H T ?
(1) LDL Fiieda (2) VLDL ®ieretia
(3) LDLJ VLDL sicietia (4) HDL #wua
Which of the following cholesterol is considered as good cholesterol ?
(1) LDL cholesterol (2) VLDL cholesterol
(8) LDL and VLDL cholesterol (4) HDL cholesterol
69. Siog et (Fpfis) cqsgem qNiNW el €14, ol WQU @Eel BQ. A Aiell (SAESE
feremre) ® wgvaT ?
(1) wgHg AfeEw
(2) Wywg 3f-afiew
(8) oo ogie

(4) AFA-3gRer stadfea nyie AfEa

When kidney tubular reabsorption fails, copious urination follows. What is this
disease (metabolic disorder) called ?

(1) Diabetes mellitus

(2) Diabetes insipidus

(3) Juvenile onset diabetes

(4) Non-insulin dependent diabetes mellitus

PN THTHIST AT / SPACE FOR ROUGH WORK
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70. GiAATH! SVt T dgrare et T 2
(1) ¥R Sepe-qeRa
(2) wufem
(3) WP
(4) WIeHE, MR, T&a
Which of the following vaccine is administered by oral route ?
(1) Bacillus Calmette-Guerin
(2) Sabin
(3) Salk
(4) Mumps, Measles, Rubella
71. U Yo Wid <ATen A orwal, T Yed UHiet R ShETheEsl o S, Sare
9 Tl afelt, doRT =TS 173@&%@& SR AT 24 I e, W
HerToTaes Tohelt Bt Bt 2
(1) 415 (2) 362 (3) 346 (4) 326
A devotee, whilé going to pray in the temple, put flowers on each step that indicated
its number. When he offered 9 flowers to God, he had 17 flowers in balance. If the
temple had 24 steps, then how many flowers did the devotee have ?
(1) 415 (2) 362 (3) 346 - (4) 326
72. Mﬂmaﬁﬁmwmm sl gesal anfor 30 fh.ft. e @t T A

Tdihe Fesar T 20 f6.ft, wam +@l. g1 @t s qoal onfor 4 40 .. va@ @,
wammm%ﬁm YA FLEl, T AT TN diS Hiorear 8 R ?

(1) @

2) =
3) T
(4) 3R

Srikant stands facing north on the ground. He turns right and travels 30 km. Then
he turns left and travels 20 km. Again he turns right and travels 40 km. Again he
turns right and travels 35 km. Which direction is he facing now ?

(1) East

(2) North-East -
(3) South-West
(4) South

FOT FATIS! W / SPACE FOR ROUGH WORK P.T.O.
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73. QleE YeIa g faum et amed. d faur & swer gy w5 s wig feee e,
w1 qafaTd famR foam @ sriersan 99 fauries o Zaifaum s, v wyamr yafe e

faum :

. fi| gem AR

9. g e wesd TE.

F. HEE gori ek wea T

3. i frehe wWeal.

3. ﬁaﬁ%@aﬁmﬁgﬁmﬁ

it I ,

1) THA (2) F39 (3) HA=E (4) 3TA

The following question consists of five statements followed by several options
consisting of three statements put together in a speciﬁc order. Choose the option
which indicates a valid argument i.e. the third statement is a conclusion drawn from
the preceding two statements.

Statemenis :

a. Amitis a boy.

b Some boys do not play cricket.

c No girl plays cricket.

d. Amit plays cricket.

e All those who play cricket are boys.

Answer Options :

(1) dca (2) ceb (3) abd (4) eda

74. T 100 Freneten anidie 40 famefl aftra sl s enfir 60 farmeff susfa Il s,
g foreneff nifora @ ot o S farama el s, @ fedt Rt S fawama sl st ?

1 5 ' (2) 15 (3) 8 : 4) 16

In a class of 100 students, 40 students pdssed in Mathematics and 60 passed in
English. 8 students failed in both Mathematics and English. How many students
passed in both the subjects ?

() 5 (2) 15 3} 8 (4) 16

75. EﬁmﬁﬁSﬁ%ﬁﬁ , T Forg 9 fig wedle Tida. w3 9 fag Steurn W

wEcdl, a0 H hWﬁm%W?
(1) 29 3) 27 (4) 28

There are 8 points in a plane, no three of which are collinear. If lines are drawn by
joining two points, how many such lines would be drawn ?

(1) 25 (2) 29 3) 27 (4) 28
o] HTHNTS! ART / SPACE FOR ROUGH WORK
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76. TR vzae wH feawm 5 e 7o M. W fiyv =31 & aEme 35 A% AT ged, WX
mmmmwaﬁmaﬁﬁ W we fadht w12 I R aege
= weaTeEmnen et fifR g2 s 2
(1) 10ffR (2) 13ffR (3) ofufe 4) 14 ffR
Niraj’s watch is fast by 5% minutes in a day. Piyush’s watch lags behind by
35 seconds per hour. If their watches indicated the same time at 8 o’clock in the
morning, then by how many minutes would Neeraj’s watch be ahead of Piyush’s
watch that night at 12 o’clock ? )

(1) 10 minutes (2) 13 minutes (3) 9 minutes (4) 14 minutes

77. Tedtem W v P 39-arhd grafra A 2
Treger, o, faanfem =rfit
v @ | “ oO O
D LG
By which Venn-diagram can the given sets of words be shown ?

Teachers, Writers, Married persons.

v @ . oo O

. D
78.

WA=1,B=2C=3,... ,Z = 26, W ‘GODFATHER’ & ¥sg %41 fetgret ?

(1) 7-15-6-4-20-12-8-5-18 (2) 7-15-4-6-20-8-5-18-18

(3) 7-15-4-6-2-10-8-5-18 (4) 7-15-4-6-1-20-8-5-18
IfA=1B=2C=3, ... Z= 26 then how will you write the word ‘GODFATHER’ ?
(1) 7-15-6-4-20-12-8-5-18 @) 7-15-4-6-20-8-5-18-18

3) 7-15-4-6-2-10-8-5-18 4) 7-15-4-6-1-20-8-5-18

o] FTHIATS! OTFN / SPACE FOR ROUGH WORK P.T.O.
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79. wiefie S I A I &0 @9 "o Rerem e, Al Hed wieseiqde 9y e
FEYe @EY 3@ 19 11 0ed fRoieh it e o 3@ e v argw o ffe s

AT :
1. gl arfe O 9.
II. 9 g F1m anret.

gatdi s

(1) I afomm o1 anfor 11 ¥ & i@ SR AR,
(2) 117 giom ang anfr I R &I WH@ SR TR,
(3) IIg Wi oTR, WY [ 2 S W@ SR AT,
(4) ledd T T A

In the following question, events I and II are given. You have to read both carefully
and decide their nature of relationship. You have to assume that the gwen
information in I and II are true and decide the correct answer.

Events:

I.  Mr. Hari was killed in a fire,

II. A fire broke out in the company.

Answer Options:

(1) Iis the effect and Il is its principal cause.

(2) Ilis the effect and I is its principal cause.

(3) Il is the effect, but I is not its principal cause.
{(4) None of the ahove is correct.

80. Wrefia gegmyy forama wean o
343, 324, 3375, 10648, 64
(1) 64 (2) 3375
(3) 324 (4) 10648
Find the odd man out from the following numbers :
343, 324, 3375, 10648, 64
(1) 64 (2) 3375
(3) 324 (4) 10648

FUEIT STHIAT! AT / SPACE FOR ROUGH WORK
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81, TR wpw 60 .. aﬂﬁtﬁﬁﬁ‘ﬂ%ﬁzoﬁﬂﬁ R At 10 f.f. A 9w qr=d gaa
20 T, ofex areft 12 f6.ft. I 7 oSS 20 ff. i quft 15 B I F=,
e |qet 60 55 .ft, Statrem yamaTde Tl an foRedt 2
(1) et 12f6f, (2) awft 13 feaf,
3) et 14 f6.3R, (4) T 11 R
Niraj covered the first 20 km distance, out of a total of 60 km, at a speed of 10 kmn/hr,
" the next 20 km distance at 12 km/hr and the remaining 20 km distance at 15 km/hr.
What is the average speed of Niraj to cover the 60 km distance ?
(1) 12 km/hr ' o (2) 13 knvhr
(3) 14 km/hr ‘ (4) 11 km/hr
82. AW T W 6 figwim pof & anfor T d= wm 18ﬁamaglﬁaﬂ% mmzﬁtﬂ#’rwm
e T A A FW Yol o et Raw A 2
1) 45 (2) 4 3 5 ' {49 35
Neha can do a work in 6 days and Rekha can do it in 18 days. How many days would
it take them to do the same work if they worked together ?
(1) 45 2) 4 3 5 {40 35
83. wwﬁ%maﬂﬁmmawmaﬁ ¥ 1,800 9 T 1,890 9113, | &t wEA
T 4139, forcht =t g 3ot &t ?
(1) 10 2 9 () 12 4) 15
The simple interest and compound interest for 2 years of a sum is ¥ 1,800 and
T 1,890 respectively. What is the rate of interest per cent per annum ?
(1) 10 - 2 9 (@ 12 4 15
84. WA v wATE 71 I e ferdiden a2 2
(1) 5/8,9/13,1V17 - (2) 5/8,11/17,9/13
(3) 9713, 11/17, 5/8 (4) 11/17,9/13,56/8
Which of the following is in descendlng order ?
(1) 5/8,9/13, 11/17 (2) 5/8,11/17,9/13
(3) 9/13,11/17, 5/8 (4) 11/17,9/13, 5/8
85. ﬁ%mﬂﬁss%ﬁméﬂ@mmﬁR@TM%%m mmw

IHAT BT &S &

(1) 7% &9 e (2) 9% e (3) 9% HHT TTAT (4) 5% HH AT

On reducing the entry fee by 35% in a park, the number of visitors increased by 40%.
Then the percent increase or decrease in the income from the entry fee is

(1)" 7% decrease (2) 9%increase (3) 9% decrease (4) 5% decrease

e HHTEIST S / SPACE FOR ROUGH WORK ' 7 P.T.O.
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86, nmg%irmﬁﬁwmmr(NCRD)Wammwﬁﬁmﬁaﬁﬁnmaﬁ
A, 2018 99 Tfeasht 109 TFE s Wwor, ,
4. 2018 99 W 39827 HeAT Aicged e,
®. 2018 99 wTfeThiat SRS 21401 5241 HET.
g, SR SCATHARIEAT Gaiite 2832 TeHT HEEE HEedl (2018).

TR S faum st e ?
(1) Wad H, 9 AT & (2) Wed |, & AN S
(3) e 3, F AT € ‘ : (4) ol @

According to the report of the National Crime Registration Department, the
information related to Child Crime is as follows :

a. In the year 2018, 109 children were sexually abused every day.

b. 39827 such incidents were reported in 2018.

¢. In 2018, there were 21401 incidents of rape of girls.

d. The highest 2832 incidents of rape on children occurred in Maharashtra (20 18).
Which of the above statements are correct ?

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya,candd - ' (4) All of the above
87. ugd faw fawm 71 @l el fael wtvaE e ST oAl @ UEE

wgE A dae (NACO) W shesaen ).
(1) wrarE Fga B wue

(2) SR & FgA HeaT Fdm

3 gia Fwdm e

(4) TEE R e SR

Department of AIDS control has been merged with and now it is
known as National AIDS Control Organisation (NACQO).

(1) Family Planning Association of India

(2) Department of Health and Family Welfare
(3) National Leprosy Eradication Programme
(4) National TB Control Programme

88. W&, WeNmeR), fremdis @ dufie s adw Siefiea s werd Yt
ot argen Frfia W IRI ‘FRORE W IUHER TRV WRAT qie 99 IS TR ?
(1) TS (2) IW W
(3) Wy . 4) fagr
The schools, colleges, universities, educational as well as private institutions may
witness historical places. Keeping this aim in view, which is the first State in India
that decided to set up ‘Jail Tourism’ ?
(1) Rajasthan ' (2) Uttar Pradesh
(3) Maharashtra (4) Bihar

T HITATS! SN / SPACE FOR ROUGH WORK
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g TP Ay AT AT e T

A, A dae R w3 iR e g

9. ‘qEiERatdd I oEE ol HiE R AuTha dYTe.

%, CCRME SRS R T warie tg arafifad me fisagd 3 S,
g T yweur omuR wadt e witreor,

et B T SRR ?

(1) % A AT = @ e
(3) % A, & AT (4) e o # A

Following is the work of Dinabandhu Sahu, honoured by NIRI :

a. A book of ‘Farming the Ocean’ on sea algae.
b.  Production of short film ‘Biodiversity of Life’ based on Mary Kom.

¢.  Fellowship and Research in International Society for Energy Environment and
Sustainability. ' :

d. - Sea farm training based on Project Chilika.

Which of the above sentences is/are incorrect ?

(1) Onlyaandc (2) Onlyb

(3) Onlya,candd ' (4) None of the above -

90.

Hez-30 5t Tt St AR g ?

#. o9W - 3357 kg

9. I OO GEY, SUEER & ST W 40
%, 127, 12 ¥ ¥ et 4 gE

T I TUECST S3UESY IR

it IW :
(1) e & M0 % (2) wRIAOS
(3) wEa A, & afrs ' C(4) e w=

Which of the following are characteristics of GSAT-30 ?

a. Weight - 3357 kg

b. Provides high quality Television, Telecommunication and Broadcast services
c. Equipped with 12C, 12Ku Band Transponder

d. High quality communication satellite

Answer Options:
(1) Onlyaandc ' (2) Onlybandd
(3) Omnlya,candd (4) All of the above

ooy TTHWNS! AR / SPACE FOR ROUGH WORK _ P.T.0.



U14 36 A
91. ﬁmﬁm&%&aa@aﬁaﬁwmzmlmwmmw

fieten o 7
(1) w@wag (@ f@w
(3)  WeRTEEIE (4) WEEHHTE 9|

Which of the following novels written by Sonali Navangul has won the ‘Marathi
Sahitya Akademi Award’ in 2021 ?

(1) Swachhand (2) Dream Runner

(3) Prakashvata (4) Madhyaratrinantarche Taas

92, e Tew gEHR faem (2019) fieha Foff amen sreEwn SteavaE gdie geamed
| feen oz, ensh geuht wEa A vai A
A, AAH A™ T (1E) A ARariS giga. s g il e R
9. TR i o e oA,
%,  THIGE TR e
5. s wie, aﬁaﬂm?}aﬁaﬁmm

it T4 .
(1) %,9, 8, (2) A, F
(3) g, $, a, 3:[ B (4) $’ a! 3:[! g

Winner of the Nobel Prize for Economics (2019), Abhijeet Banerjee’s life journey till

date is given in points below. Reorder them and choose the correct option. ‘

a. Contributed in preparation of Scheme Nyuntam Aay Yojana (NYAY) for
poverty eradication in India.

b.  Written a book titled ‘Poor Economics’.

¢. Received the Infosys Prize.

d. Studied economics at Presidency College, Kolkata.

Answer Options : )

(1) ¢ b, da (2) d,b,a,c

(3) d,c,b,a (4) ¢, b,a,d

93. 2021 weA fHeNA Bt At Wit Hivre [ESEREIE! wwe fag wef 7

(1) A MesA 3. (2) U WBR ATE g $aR

(3) ueE Hiw IR AT 2 391 (4) AR

Lionel Messi was selected for which of the following awards in 2021 for the seventh
time ?

(1) European Golden Shoe (2) World Player of the Year

(3} World Soccer Player of the Year (4) Ballond'Or

Foeg] HHTETE! AT / SPACE FOR ROUGH WORK
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94, ;gwwawﬁmwﬁn@amaﬁﬁam% mwmmwﬁaﬁ
?

H. TR, 9 T

q. Ui SR et 5

. e TeeR fifts =g g

. e uve, foew. e gl

it I

Q) TR E | (2) W F a3

3) ®H 4) R A

On the eve of 75% Independence day, who was honoured with the peacétime

Gallantry Award — ‘Ashoka Chakra’ ?

a. ASIBabu Ram

b.  Police Constable Altaf Hussain

¢.  Li. Governor Girish Chandra Murmu

d. Governor of Mizoram, P.S. Shreedharan Pillai -

Answer Options :

(1) Onlyaandb o (2) Onlycandd -

(3) Onlyb ‘ (4) Onlya
95. wrela faum e e

. e & vRawder aftet e T S AR,

T Tm%%mmﬁmmﬁmmﬁmqﬁém

Fheteh R R/ e /e ?
(1) B A (2) wad ¥
(3) 31 3l @ S ' (4) TR R T

Consider the following statements :
a. Kiwi is India’s first certified organic fruit.

b. Arunachal Pradesh is the first State in the country to obtain an organic
certification for its Kiwis.

Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

FEET HRTIS! AT / SPACE FOR ROUGH WORK' : P.T.O.
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96. WuH WA ETE AT (AP (PMAY-U) ¥ieria 18 9Hart, 2021 wd m
Tl AT STl gt '
(1) 6817@ 2) 1288 @
(3) 165-8 TTE 4) 109-2 @

Under Pradhan Mantri Awas Yojana (Urban) (PMAY-U), as on 18t January, 2021
‘houses have been sanctioned. .

(1) 68-1 Lakhs (2) 128-8 Lakhs
(3) 165'8 Lakhs (4) 1092 Lakhs

97. aﬁa@ﬁammmmﬁﬂwﬁmmmmmqﬁmnﬁw
uife e g Fivren T st vefeen 2
(1) 2015 (2) 2016 (3) 2017 (4) 2018

In which year did Avani Chaturvedi, Bhawana Kanth and Mohana Singh create
history by becoming the first women pilots to be commissioned into the fighter
stream of Indian Air Force ?

(1) 2015 (2) 2016 (3 2017 (4) 2018

98, U iU AR ydwm i oS Tt e T-57 dewde’ 91 YR Sl ?

(1) =@ . (2) T (IAE.TH.AT.3.)

(3) #Huwivw. (4) A&

Which Space agency has launched the first all-electric experimental aircraft X-57
Maxwell’ ?

(1) LAPAN : (2) ISRO

(3) CNES (4) NASA

99. .ug.ud.s). - H1.48 (PSLV — C48) &1 Y&UHTA Wreani wragr 11 fEdfer, 2019 s
GIAEIh! IO HIEH TG AGTHNE HISvdra T ?

(1) RISAT - 2BR1 ‘ (2) EMISAT
(3) CARTOSAT - 2B (4) GSAT-31

Which artificial satellite was launched by India on 11 December, 2019 through
PSLV - C48 launcher ?

(1) RISAT - 2BR1 (2) EMISAT
(3) CARTOSAT - 2B (4) GSAT-31

EoegT BIFTATS AR / SPACE FOR ROUGH WORK
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100, 93N e MR U Wi e eas I8 Wi 3 ferd B e R
© g feATdier ST ST hA A TR 55 RN I Tt Rae.
F, gAY THE — 79 B TUETE AR HeHET T AT TR,
q. QU 3Y 155 wudt et wifdey EReR sremEve.
.

Fiier erTeger e
3. ‘gl @1 S I8 6.
qaidt I

(1) 'E,?,amﬁrlaw
(2) T, ®H, A M0«
(3) %9 Famfre

4) g, a:,aemﬁh%

Select the right option regarding the Chairperson of 93" Akhil Bhartiya Marathi
Sahitya Sammelan, Senior Literary Author and Thinker, Father Francis Dibrito’s
life happenings till date. '

a. National Award for translation of ‘Subodh Bible — Nava Karar’ book by Sahitya
Academy. '

b.  Chairperson of 15 Marathi Christi Sahitya .Sammelan in Pune.
c¢. The ordination as a Catholic priest.

d. Chief Editor of newsletter ‘Suvarta’.

Answer Opﬁons :

(1) e¢,d,banda

(2) d,c,aandb

(3) ¢,b,aandd

(4) d,a,bande

T BT SR / SPACE FOR ROUGH WORK ‘ - P.T.O.
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T — (e 1awgd.....)

(8) vwegferned fafka Foew fafime smfe =t oW (& 75) =3, Fegfeerafiia STEiEe a1 T
FHIEEL T HIH Hodd § FA HOITAT AW Fa AR, AW T I § AR IERE -
Il Ferem “gleimed gom=n Ao ey weaEems Afufie-82” Tde wgdgen FRan
FOGTT IS T 2 el HAT U FuTSAT a7/ fRaT T wh gR TRl cereaT e
L IEREGR ,

(9) T TUHad! T fafgd Foreh dw ducaHa Sheaen § TR T e T
UH TIE WA IR, W ATReETiR TuaigE| IUEEE IUedT  SYafehET |1
FRAgHRTERS 1 Bt wa o avas IR, '

N. . 201.

. . 201.

oiqell U
Tt =Tet o2 HruaTETet HIvh qerd: WS He ?
(1) T g gweEd @ ety famrr
(3) T THAEH T (4) TITEFHS Mgt

AN A I Y3) T TAEET (A7 Il R, e A1 TR I Y3)” B
IR WIS S . 201 FARE IHLEAE “(3)” ® age [T Bl wEA
TRETY ATETEH AT

@ @ @ O

I GEAR ed TGRS NS Ul IS A1 grETel S giee
TAUEFTE W T IEEAREEOE vEitd e [N AT FEd gEaEl. Wil
R THTHAT W Ao AT, SR a e o e 1.
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